1R1E /
Operati i/ |[*EY
: EsE ion i R /
Scientific CalcuIaTOEr 0 Display | onten B / <
@ 123 = Explanation REETREROT IR TV /
I N 7o s
. ! Enter 123 Wik ation Re
E-IN-3005 s B 123 123%5Mm : At W sults
© X Pl M 456. - ! Store 123 F_mi= 0 E 5
o ' e W ZE
SIELELES /G mples [N M 579 & ! Add 4 DT - of datasample | 2 quation
ETTING STARTED @ ' 579 | XEUHSHD" ! % : Mean of x = -
BEADF— /N : M 789. PROHL E ﬁecallfmm XA IR i Sampl 5 x=3
Bl : / Ex umeric Entry Ke 579| 789%AH + memory : Sample standard . =2, xi/n
ample : ys - M 789. ! Enter 789 KODRHE ! &5 s 'A/"i
#8(E / value 789 | XEUDMIEEBEIRA ! Repla RERE 1 Population standard =A/Z,Ki=%)2/(n=1)
12345 I{E / Operation ) M 0. 780 | =740 Ui dspay - } deviation of L W /7
= ~oU7 ! FHEDS) o =/\/._77
O Bh&EofAS / i RiT / Dis 0. ! Clear displ A | Varianc Z, (=X 2/n
o) / incorrect entry play| @l : ZHAEUE 0| xEUsUT ! play ! & of sample i N
1 n-1—
@ 124. 1R / Example : Using the m ' Clear memory BEFDDE : Variance of = i§1 (xi-X)2/(n-1)
E—K 12. BE/ — emory variable . 1 population e we iy
—REIRF— / Operation ="/ XEURE / il ' summat X, (xi-%)2/n
5= . Mode Sel b 12345. Display Memo _ A H ation of x e
nﬁl : E-FEEELFT. / ection Keys E] comenrtys E WE/ ! | Sum of Square = = X
| : / Example : o / To specify the calculation ) HEE 36 *planation HEEEpIE /s @ | pye
181/ mode: W SO A ’ 0 | BiEZAS [JP IS tatistical Cal : = X
Operation — = | E @ E5%=200NE culation Exampl
ET—R/ 36. ' nter value i < nguxELic ples
4 36 | MIEEEHAN s \FUIzo LU R -
= s 1ogRE Hode BTy @ () (=) 51 grzmangy | Sowvweo | B T o L ROERDESICET DBEENFES
MR (TS g - SHIFT . 1 vari i . S =
N - (FU=)E—K | Decimal Galul | oB = o | mmEAR | e ire following tale. Ploase, calclate e statisi be *F5TT. Mt
s . . . " s
oo EREE—R ' 5 ulation (Degree) Mode 51. [ ) ! er value BE /i calculate the statistic b: Serdof each pizza is varied '
SmreeT | st ! Binary Calculati A ZHCNE , iameter ed on this inf : as shown
s MEETE—R H ulation Mode D 0 A= e | Storevalueto - information. in
S b HEX o ' Octal Ca ) R g = 36 | &R - ! variable C 276 ~ 2 5= / Midpoin
e 16EREE—R i Iculation Mode BIN = C=51 oo g 8.6 8.5 t [
iFT = - l . ' i . ~ re
% =} Rt _K : Hexadecimal Calculation Mode ocT < 36. 36 é‘EUTJ‘SgyA,&u; : ear display 206 - ;z: zg ) quency
e W ) _ , Statistical C. . U FUF 1 Recallth .
— ERUERT—F : Complex N eleulation Mode EX 5t 51 | XEUHSZEH ' "f"afiableeiomenls 20'6 ~ 315 30 4
FERE—K+— / Dis ' umber Calculation Mode STAT ot / WO ZHHCHEIEY | Recall the contents 16 ~ 325 31 5
#l : / Example : play Mode Keys : cPLX | @ 8itt / 16 EX*— / Bi | ofvariable C ypp 32 6
: . 1/ E Ina Operati — 3 (@ )
{%{E / Operation| iR / Di xample : ry / Octal / Hexadeci o peration | 3K / Displ (##20 /20 in total)
7 / Dis| imal Nu (A play =
play T (& / Value mber Keys 7y N R ) (STAT) 5484 / Explanation
E i (SHIFT) _
E]@ 0. | FEIBRE-R | xplanation AB (S {R{E / Operation = % 0. | HEETRE—R st
HE— Floati 7 » HEX E— atisti
Wl E j Flosting Modo ¢ e T / Display 0.0000 | /JEUIDIERE ' Deci ‘o mode
=) 1230. ! === (HEX 20000 | EHOAE | Cpeonoation
1230 | RSIERE—R : ERMst ) = | Give th
-k ' Scientifi R /cC Ab7C 6.0000 [ e sum of
1030 \ Scientifi ) . omple; . 3 \ frequenc
=< 23% | TummE—k | Engne © Exponenta Mode Bl - / Example : plex Number Calculation © =5 11.00 I ’
1230.%° ' ering Ex : : .0000 I
& ; 30. | Mode ponential 3 / Value B0 B o :
(S 4ENG 30000.% ! 5 3 .0000 !
OO 1230 i = {E / Operation = = " !
. 1 1 _Aai H 0 !
ISR — SETSERT_ | Hoverse Engineerin (2-3)-@+7) | [ ) = / Display n 000 !
Bl:/ F— . SUVFBE / Deci | Exponentel ¢ =8-10i (@) @ @& (CPLX z 20.00 X
: / Example : ecimal Point Selecti (a) @] =) ) — 0000 | F—FIRAHE :
91E ection Key , Roundi - @ & (s ZAfesy o ot numbe
/ Operation =T/ » Rounding function : 6-Tyx(eso) || a8 30.2000 | XDFHY 1 sample rof data
(ST FIX s / Display . _xcss9) | (2 (@) ) @ 8. RN 60 " Mean
[ - T D @ mE 6 E ~ A =xa 4.0000 | xODH ' of x
@ 0.000 BA / Explanation =15 +110i @ @ E] @ _____ 1_0 s = 18270.01 #A | Summati
@ 00000 | AESH ! 5 deci @E@®E @ 1 |& 0000 | {BOTHH : onof x
] g ‘ ecimal places ) LA 1.2397 | xDiZAAES ¢ Sumof Square ofhe vlue
m@ OmnE 123456789.0 ' N 5t EEE 15. = | shEEREE | Sonhe standad
= m_[g) 123456.7890" " ! H / BASE C ; 110, : 283 | xoBEEEE | iation of x
(SHFT) 1 amﬁ&ﬁ aICUIat|On R ;ﬁgﬁ“ / 7= ,  Population of
) 12345702 | Iss0f : Bl : 2 £ / Two’s Compl ange CALCULATION L Gebiaton ofx el
any 123456 Off ! 0 decimal  SEOTZAL. wswéeme"t Calculation: 1. 10ERE (545 EXAMPLES
=g 780 | JgEye | R places T HELEY . / Example : Enter 1 in bi ?JJmE_FEQE(:_r‘faU—E—F) / Deci
e 103457 | IgEOR: ' Reset decimal places peration P in binary and subtract 1 three i HET_p : / Initial mode setti imal Calculations (D
550 123457.(9) B i 0decimal pl fne irs / Display ree times. R / Calculation Mode: 103 sting : egree mode)
. l aces 102 / Deci . HﬂLj_:‘de—-E— . A
e 123457 ' ) (BIN) o ecimal ) YOS LT ¥/ Decimal Degree M
HEISES — | = ) == e, D) HERE ode
o HETERRN | E] E] RE—R / Di Press @) "DEC TENRET =
5 1 Ot RENET, DBE 1. ) isplay Mode: 3 &) "B and then esc EALT R
0 TR FHRRE &, /BER5AIh V857 / Deci Mode:  FENERER n press 2 until (3 is i Al
2 RRSNIEEF. 35 :ni?oU‘ﬁﬂl%aﬁ[gﬁi?\_%izﬂtb\ggﬁ o. 1 imal Point: Utk / RE—NR / Floating Mode | () is displayed.
. %ﬁ%a[/:j;(?Ihsaﬁiﬂfcﬁﬁgw—ctﬂoﬂf;'\cﬂi@h}o N B 11111111 o o o Resetting
3 hﬁbrcd%ﬂﬁl—i‘%}%&%ﬁi" NET. 2L st 11111110 By 817 Example | B5E 0
EI' *1 The number is di AL ﬁ: = : N =
ris . BLET iaTa : _ meE . , 1R{E -
_FI)_|:Ces are Spegilﬁs:(:a{)i(tj with IeﬂjUStifiCationa_| . il : /;::i.g / Statistical Calculati 2 8 JBE / Addition and Subtractio / Operation =
o T e 5th decimal place is ;’g'ty the 10 most signif?c;hls case, 5 decimal = xample : JOnS +3+55=165 n T / Display
he displayed v. A displayed. nt digits are dis| {2{E / Operati — 47 g 8
caleulation re alue is rounded up withi played. tion | &R / Displa 3=-6 51115 (=
*3 Round the vals:“ttls retained in thgreg?sl?e:he specified range, but th (STAT) . S8 / Explanati N BDEEE 109
e to the oy - ’ e actu . ation . B& L
EARHAS specified number of decimal al 0.| BEtEtEE—R . os & / Multiplication and Divisi _6.
P @i+ — / Basic Cal places. 10.| 10&AN | Statistic mode 6x17=6.12 - ion
: / Example : culation Keys 1| 51525 1 Enter 10 592 =48 = HNOOHOBE
HE / Value 20.| 20ZA% ; Data 1 entry 02 ® B 6.12
2% (3+4)= 12{E / Operati 2 | F—moEAS ! Enter 20 TUBILESEHE / Mi E] 123
)=14 on — 30| 3 | Data 2 e ixed Calculati 3333333
1+[4-36+ O B T / Display .| 30ZA7% e ntry 34+5x7238 ions
. - "En
oxos-sx | 0 5 B E 5 oI 3| e ceree | GEEEEE
2 =-6.056 (@1 &) 14. - AF : entry -2 = 85. ©
II] II] E] @ 0D . 4| F—5am ! Enter 40 - .@@BE] 38.
— E] A ' EXGTE /
PEEIEF— / Fracti 50.| 50%ZA% ' Data 4 entry @ Exponential Calculations 55.5
@l : / Example : ion Calculation Keys: —6.056 5. 7—% ! Enter 50 21 x 104) x (65 x 10%)
B / v: . . 30 ) SEA | Data 5 ent = 20865x10° E] E] E]El
alue -| XDFHI i Y [ (¢
1R(E/ 5. 7— ' Mean of = B
2 Operatiol | FmiEA i X DEctE ]
s . %7 / Di 15.8113883 A + Total number of data A8/ Fractional Calculati 2.0865'®
< / Displ o | xorEwiEs ple 5 tions
play (S (Zx2 150 \ SR ! Sample Standard 3t 34_5_,8
5 [% %} 5500- XOD¥SF ' ngIation of x 77 1%%g
________ () | EOFA: | mmation of x 5 5
12 lI_] _______ 2. () o1 14.14213562.| x® ‘*I] ' Sum of Square of th (5+2:§3)Xg+2_1 o “WE =
. |a : FHESE RE | ; e value 5 -_8 | ([QE 20,83
L 2.3 = = ! Population of St 200 3 84.
________ s 10.| ®/IME ! Deviation of x andard DX @ B
2 50.| & | The mi EHE e 2
. wEtF—5 DiEnl. ¢ e 1 Th e 2 #EHE / Constant Calculati HOE|  sreeo
e - I. &Ik / Add ' The max data +8=5 ions :
5 1o Negale == , Delete Statistical Data 4£3=7 =
Bl: 12+45%s 12, m-use@and%g%ﬁﬁﬁbijc 1-2=-1 g
Ex s ZEtEL. fER%Z _ 1u2 .5 Bl : FEst 5 Data [ 2_2-0 |I| 5
ample : ] )\ I o 5 _ . Icol E]
Calculate 1 2 W 5 [CZBUET, / SHF—4%80 / Exa 3x2-6 E] 7
3+ and co ° % mple : Ad - 3x2= .
% 8 nvert the result . {E / Operation | % d Statistical data : 3xd= = 4
0 kﬁﬁ / Operation to a decimal fraction. %} p— ion |3RiT / Display ;:ata : 6—_3 = 122 B 0.
av) (2 =y =) (STAT) S8 / E - 3= :
T / Display @ o. | mEtetEE—K xplanation 9+:3=3 & = = 6.
Z ) £k . B ;
= 102 o 10. | 10%AH ¢ Statistic mode , © B 2
43 =_ | E IS :
= 6ula2 © 21. TIVEAD i DInter " f$5t% / Parentheses Calculati 3.
EOE . RORERT— / 65 Da':a] 0. | 20EAH ! Eata 1 entry gg [(4;]_ 3.6+5)x @ ations
gL —/ Mi 6 2. | ¥— , Enter 20 8-6]x42= — ¥
1: 3 %Aﬁb\%’ﬁﬁﬂl?}’éiﬁb;? ’/Impr°Per Fraction Conversi w1z = 3. ;_227@\7} | Data 2 entry 0% %] g
{2(E / Operati - / Example : Enter and conve:toi:I t: o il : Gist5— % EIB% / Exampl 3EAS E Data 3 entry 0@aE
ion a mixed fraction 12E/ O e : Delete Statisti =] =
. i = stic i SRS
Do =T / Di peration | iR / Displ ical data : #5tH / Percentage C ! —4.056
= isplay iy = SHER / 200 x 17% ge Caleulations
- (STAT) Expl q o =34
i de 0 eis planation 2
—— 1043. gj@ | FRHEEEE | Statisti %"100=577 @@E]E]Wx
X 3u1.3 Data 10. | 10&=AH ! atistic mode 79467681% @ X 5
EU:F_ / Memory K 1043 @ 1. | T—=91%ZAH . Enter 10 TEEREtE / E] El = ":] .
Bl - ST XEVEER / E —— - b5 20. | 20&AT i Data T entry 12% x 12! Constant Percentage Calculati 5779467681
xample : Usin B 2. | 7= 1 Enter 20 12% x 1200 = 144 ulations
’ thei 2% ! o
T g the independent Memo = © 30. | 3 i ! Data2e 12% x 1500 = NEEssEO
$108.8011 == I YR—IFAITT ry Data .| 3o'AH ! ntry =180 0E © 05
© CANON ELECTRgx\ﬁgﬁB%élgmeﬂ e—éua"/g’\"?ﬁitgu © 3 | —#3%AH 1 Enter30 165 100% - @O E 1aa
N SEILE () ! o=
ESS MACHINES (H.Kﬁ%&nﬁgﬁ :  050-555-900 i 40. | 40=AD : Data 3 entry 77.50759878% nlala 180.
. : . ) - E SHIFT
201% PRINTED IN CI‘%SA 0™ & 4. | T-5A%AS i Enter40 854 X 100% = © = A E
016&£28 181 mn oz 3 | =—gam ! Data 4 ent 66.26139818° (&) 77.50759878
IRTE () >3 ' ry % =
70. N - 1 Delete d -
XOHEH] : s a.ta 3 ZIBEHE / Add-O 66.26139818
1 Summation of n (Mark U
of x p) Calculati
200 + (200 X 20%) tion
=240 ©©
@ %‘ %
=~ 240.




#ll / Example | %€ / Operation

T / Display

§il / Example

%{E / Operation

KT / Display

T
SEEtE / Square Calculations :

1.25%= 1.5625 0O® 1.5625
II755HE / Cubic Calculations : £
5.43° = 160.103007 GEE =% 3 160.103007

SEEETE / Power Calculations :

UOxEE

2.115 = 41.82272021

41.82272021

TEFERETE / Constant Power Calculations : (37)

228 = 5063026376 @0 = 5.063026376

323 = 13,07566351 = 13.07566351

42% = 25,63423608 = 25.63423608

B / Extraction of Square Root :

J6+6)x7 = 8774964387 | (D (5) (1) (6] O = 8.774964387
; . X%

=% / Multiple Root : £,

53/100 = 2.384286779 ) o) (0 ‘& % 0EE 2.384286779

EHV—NETE / Constant Multiple Root Calculations : %

il / Example | 1%{E / Operation T / Display
T
2|5 |5+& / Discount Calculation
200 — (200 x 20%) = 160 | OO0 & E 160.
XEUETE / Memory Calculations
§il / Example %{E / Operation T / Display
I AXEVUETE / Independent Memory Calculation
0.
20x 30 = 600 OXEOE M M 600.
40 x 50 = 2000 A0OXGE0E M M 2000.
+) 15x20= 300 MG xR 0)E M M 300.
2900 M 2900.
-) 125 x40 =-5000 m@@@r‘:} M 5000.
~2100 M —2100.
0.
ZHAEYUSTE / Memory Variable Calculation
9x6+3=57 OHOBHBE TS 57.
x) 5x8 =40 BXEE=T S 20.
A3 57.
HE S 40.
2,280 = 2280.
2. 2if . 8ift . 16i£iEH / Binary, Octal , Hexadecimal Calculations
2iEEE / Binary Calculations
Bl / Example | 2{E / Operation T / Display
T
HNE - FE / Addition and Subtraction (BIN) : ) PN
10101011 + 1100 + O0O0OOOOHT
1110 = 11000101 Oo0ODEOOOHOE 11000101.
11100011 - OOMPOEOOOHE
10101100 = 110111 OO@OOOOO 0O E = 110111.
Z=H - BRE / Multiplication and Division (BIN) :
11x 1001 = 11011 OOxO0QOOOE 11011.
1101110 = 1010 = 1011 OO0OOOOOO0OEOO
DO 1011.

5/1024 =4 [I]@W:"]\%E]
5/3125=5 B0EEE

3/7776 =6 @E]
MO / Geometric Mean : %

1.673830182

G=+fizaxiasxigexzz | (I (] xMmE]
= 1.673830182 O0EE B
o
= EEE
B3I / Extraction of Cubic Root : E

SiEiEE / Octal Calculations

3/123 =4.973189833 m B 5 4.973189833
EEHE / Reciprocal Calculations :

; "
Taea =01 AHNBEBNEUEES 0.1

=F%EtE / Trigonometric Calculations : %

cosec x = 1/sin x

[DEG mode] (4] (5] (5n) &5 &5

1.414213562

_t
Ve=Vi(1-e HC)
__s6x10°
= 100x(1 _e’1sooxsox|o«s)

=52.60562649
@
o

OO0 xxOOEZ@A
00 ®E0ME @
HEOMEEDEE

52.60562649

mE

X&) / Algebra:

ZRATEN DR (REFRE R DORBEICIRD.)

IEf The Root of a Quadratic Equation (Only for problems having a real root)

1l / Example %€ / Operation K / Display
4+ 9x+2=0 OE@EHDMNG®OKXEE
M 49.
X = —bWb?-dac _ -
2a OO E
—9+./9°-4x4x2 M _0.25
29248 —dxdx2 = =
X_{—o.zs OeEWmOOE @ y
"2 BEE 2

BSRIDETE / Calculation of time :
BIRE1 : / Example 1:

MZHOH RN 2097565 (2

‘09'56") T, ElIiEMZIh 4 187237

(4°18'23") CHHEEDBENEFRE(E?

IET The air flight departs at 2 o'clock 9
arrives at 4 o'clock 18 minutes and

minutes and 56 seconds (2°09'56"), and
23 seconds (4°18'23"). What is the travel

time ?

Bl / Example %€ / Operation T / Display
4°18'28” - 2°09'56” = o GBIl
zog2r nblzablz]e —

fIRE2 : / Example 2:

Wi, SEMDFBMIEATUCVET . A5 EERIE?

IEX} The following shows the amount of time worked in three days. What was the total time?

1HE : SEE4645 / 1stday : 5 hours 46 minutes
2HE : 4858399 / 2nd day : 4 hours 39 minutes
3HE : 3559 / 3rdday : 3 hours 55 minutes

(5°46")
(4°39)
(355"

@l / Example

$2(E / Operation

T / Display

5°46’ + 4°39’ + 3°55’
=14°20

BedE @@ @ e
BeHEEEBEEIE

14°20°0”

5. BE#MEB KUFEE / Operation Range and Accuracy

JP i G
E3 HRE 10#7ET £ 1

ASEEE : 0=IxI£9.999999999 x 109

HA8EE 1 x 10%°H'5+9.999999999 x 10%°
IEN Internal digits : 14
Accuracy * : £1 at the 10" digits

Input Ranges : 0Z/xI£9.999999999 x 10%°
Output Ranges : 1 x 10°%° to +9.999999999 x 10%°

#ll / Example | %€ / Operation R / Display
T

HNE - jFE / Addition and Subtraction (OCT) : piassy
654 + 321 = 1175 OO E 1175.
741 — 357 = 362 OHOEEEODE 362.
3|E - fRE / Multiplication and Division (OCT) :
56 x 23 = 1552 BEx@2EE 1552.
621+12 =50 Q0O E 50.
MAE&ETE / Mixed Calculations (OCT) :
52+63x14=1216 HEHEENODEE 1216.

16iEi@E / Hexadecimal Calculations

#ll / Example

%€ / Operation

T / Display

|
HN& - R / Addition and Subtraction (HEX) : s
AAA + BB + C = B71 SASHSSHSE b71.
DEF - EFE = FFFFFFFEF1 | 8 £ (55 S (5 FFFFFFFEF1.
Z=H - BRE / Multiplication and Division (HEX) :
FEDC x A9 = A83F3C S SHSEE A83F3C.
CA11+DF =E7 SaolESSE E7.
MEE&ETE / Mixed Calculations (HEX) :
(AB+9)xD=+F=9C :AN:JB@@:E}’E]:?E] 9C.

3. BXEIMETE / Basic Function Calculations
T B3%% / Pi Function : &

§il / Example

$%{E / Operation

T / Display

T x10

BHEFEAOOE

31.41592654

SR . ¥=/ERIE / Trigonometric Functions , Inverse Trigonometric Functions :

Bl / Example

%€ / Operation

KT / Display

sin53 = 0.79863551

cos £ = 0.866025403
"~ o,
tanB50"0 = 1.631851687

sin' 0.3 = 17.45760312°
cos™ 0.8 = 36.86989765°

tan™ 1.5 = 56.30993247°

W=FRE%Y / Inverse Trigonometric Functions :

=R / Trigonometric Functions : (sin)

[DEG mode] (5)(3] (sin)
[RAD mode] &' 5 (5] (&) (=)
[GRAD mode] (] (5)

sin?  cos™ tan?
 — w— ]

[DEG mode] () LA
4
[DEG mode] (-] (8) E= &

[DEG mode] (1] (4] (5) &5 &

0.79863551
0.866025403
1.631851687

17.45760312

36.86989765

56.30993247

FHEARREN | MBS | EEEE /

Logarithmic Functions , Logarithmic Mean , Exponential Functions:

§il / Example

$%{F / Operation

T / Display

FEAEIEL / Logarithmic Functions :

log123 = 2.089905111 () 2.089905111
In123 = 4.812184355 D) ) 4812184355
S / Logarithmic Mean :
L=4=8 =~ 5770780164 | (O (4] (=) (&) D (=) (O[] ()

O @mmME 5770780164
= : : . X X
$544B341 / Exponential Functions : o e
e% = 3584912846 Em & 3584912846
1029 = 1995262315 OR®™ 5 1995262315

cosec 45° = 1.414213562 Ba%k / AR/
Function Input
= DEG 0=x/<4.5x10"°
kL =. : : .oXx!
PESRETE / Factorial Calculations : 5 sin x RAD 0=[x/£785398163.3
(4x2-3)1=120 = = =% 120. GRAD | 0<Ixi<5x10"
DEG 0=x|<4.5x10"
. . RAD 0=/x|<785398163.3
WER#RBEEY / Hyperbolic Functions : cosx Tz : perr
=[x|< 5x
cosh34 =2.917308713 x 10™* @ 2917308713 DEG [xl=90(2n-1) DEEZERVT, sinx LAL / Same as sinx except [x/=90 (2n-1)
=m2(2n-1) D EEZERNT, sinx EAL / Same as sinx except [x|=7t/2(2n-1)
tanh1.23 = 0.842579325 hyp) (tan 0.842579325 tan RAD | =T P
m El @ . GRAD [x=100(@2n-1)D & EZBRT, sinx EEL /' Same as sinx except [x/=100 (2n-1)
j i sin"'x,cos'x | 0=[x[£1
BEBGZR / Angle Unit Conversion
tan”x.tanh x | 0=[x|<1x101%°
5l / Example | {%{E / Operation T / Display Shx, 0<IX/<230.2585002
. ] ] ] cosh x x=0DEE, sinh & tanh [$, B2 T ClRTS—ICEBTEERNE <D BEICHELET,
F4OU—— SIFPUZH / Degree—> Radian Conversion : When x=0, sinh and tanh, being in some condition, will have more possibility of error, and influence accuracy.
60° = 1.04719755170 [DEG mode] (6] (0] & 2% 1.047197551 sinh-fx 0<Ix/<5x10%
cosh™'x 1< x <5x10%°
=y M - ) ) ) DRGH tanh™x 0<x/<9.999999999x10°"
S5I7 — JU—RZEHE / Radian — Gradient Conversion : &= nx.loox | 0<x<ix10™®
2RAD = 127.323954567A0 [RAD mode] (2] &' & 127.3239545 10% ~1x10"% < x < 99.99999999
e —1x10"%° < x < 230.2585092
. P ) ) <x<1x10%
J—R = F4J—ZH / Gradient — Degree Conversion : =2 f O;T‘ 1x10 —
X 0= [x<1x10°
GRAD — (sAFT) DRGP
1205740 = 108 [GRAD mode] (1] (2] (0] 7% 22 108. x! X109 <|x < 1x10'®, X0
8/ 0<Ix/<1x10'%
&% . $8dH&HE / Permutations , Combinations X! 0=X<69 ( x %M / x s integer )
= . — . 3 0=IxI£2.154434689x10%3
#ll / Example | 1%#{E / Operation T / Display X X
[ nPr . nCr 0=r=n=<9999999999 (r &£ n ($%%% / r and n are integer)
- - ) ' . P )
IE51 ( n BOBDHYS r BOEOEEEICERDEUIEE / Permutations (of n things taken r at a time) : ¢y R | result <1x10'™
b N . -1x10"%< y « In|x| £230.2585092
= e =|5E 60. X x>0+~ LRROFH x<0-y EEOE (4, 1y (HEE y=0) - LEOHE  x=0--0<y
5P3 = ﬁ =60 e El x>0...The above range x<0...y (integer) or, 1/y (odd, y#0) ... The above range x=0...0<y
—1x10"%°< 1/y « In|x| £ 230.2585092
1y e b5 6 | ey (2 - o b5 —=0---0<
N _ o ) ) o X x>0+ FEEDEE x<0--y (FFREF)E/A 1L, 1)y (8%, y=0) - LFEDHE  x=0-0<y
BHEDE (nBOEONS r BOEDOEFEICERDHLIEE / Combinations (of n things taken r at a time) : = x0...The above range  ¥<0...y (0dd) or, 1/y (integer, y=0) ... The above range  x=0...0<Y
Co=— m nG R—P x| Iyl <1x101%° (x2+y?)12< 110100
ncr J (n5,r) 10 % r&] E] 10. (Xy—r0) | yx:tan'x LAL y/x:same as tan~'x
53 = 3i(5-3)1
P—R 0=r<1x10'®
- . re —x, 0 :sinx. cosx&EL O :same as sinx, cosx
EEIZZEIR / Coordinates Conversion (r6—>xy)
= - — 0<Ix/<999999.9999
Bl / Example ! 1R{E / Operation &% / Display o1u D 999999.9999k DAENE I T =15 AL THENY (DMS) NERTEE A,
. (SAF) dorm
IEQ_’ @E}& / Rectangular — Polar Conversion E When input >999999.9999 the result can not converted to DMS by oo
4011 0=[x1£999999 59
[DEG mode] (1] (@) &) DEG—RAD | 0</x/<1x10"%
(saF) R=P >
E] = 60. RAD—>GRAD | 0<[x|£1.570796326x10%
’ GRAD—DEG | 0=[X/<1x10'%°
c +
-% (xA+y1i) ¥ (x@+y21)
= +
P . . ReP o
1 — BRXZHE / Polar — Rectangular Conversion : 5 g 8 | m# . / Addition, Subtraction | Ix1+x21<1x10"®  ly14+y21<1x10'%
¥ 2 1x2-y1y2) <1x101%0 1y2+y1x2)<1x10'%°
[DEG mode] (2) (@) (6] (0) &) # 1T | mm vutpicaion (x1x2-y1y2)<1x (xty2ey1i2)
@ % 1 “u i (x1x2), (y1y2), (x1y2), (y1x2) <1x10
X I} XU24y1y2 yURKIy2 o o 00
@ 1.732050808 s o @ y2 @y <X
8 BREL/ Division x22 + Y22, x22,y2?, x1x 2+ y1y2, y1x2 — x1y2, x1x2,
y1y2, y1x2, x1y2 <1x10'%
7%, LITOREEE /| The following operation range after the conversion.
= - - —DEC 0</x/<9999999999
Eﬁr)ﬁg / Degrees-Mlnutes-Seconds Calculations : ~BIN ZH%. LITO;REERE /|  The following operation range after the conversion.
1 / Example | #{E / Operation |§_ / Display ED¥/ Positive: 0Sx<111111111 B3O/ Negative : 1000000000 x 1111111111
5y
I [ oot Zriig, LIFOEESE /| The following operation range after the conversion.
BT (DMS)— 107 12/— / Degrees-Minutes-Seconds (DMS)—> Decimal Degrees : ED | Positive : 05X < 3777777777 AADH | Negative : 40000000005 x £7777777777
P Zifatk,. LUTO;EEHE /| The following operation range after the conversion.
1520;‘:1%%6_7: DEEEIEEE OEEE —HEX EDH/ Positive : 0Sx<2540BE3FF  £1044 / Negative : FDABF41C01< x < FFFFFFFFFF
' = 123.7516667 | 25 | s_sme/onanpur | XSIXIOP EXI<IXI00 DE<IA0 [nj<ix10
| | 2% n=%% / n=integer
=t . . var # | 33 [
10T 19— — E5% / Decimal Degrees— Degrees-Minutes-Seconds : &5 it 5 X n#0
- S5 |s et g0 g2 lEUl qyqg0
2056~ zeoasre’ | @ EEEE D zeawio | | 5 | 28 =
| 58 | xo" n#0 < 2B qyqg100
2% | X0 [S—

5 . )L—b . JEER / Powers , Roots , Hyperbolic Functions :

4. [LEETE / Applied Calculations

BR - TASEEE / Electricity - Integrating Circuit Problem :

ZAYFEANED. t=56ms TOIVFIHD
BEVcEHELET,

[ EN |

Obtain the voltage Vc across the capacitor at t=56ms
after the switch is turned on.

i)
sw
vi
100V R=15000
C=50pF Ve

* BEUTHET 258, BENREENDID BENAELLDITENBOET, (X),

X", x! \nPr . nCr. EDHEIC, A TERL CGHHENRITEINZBEBEETT .

En * In the case of consecutive calculations, errors are cumulative. This is also true
when internal consecutive calculations are performed; for example, (xy) X,
nPr, nCr, etc. In this case, the cumulative data may become large.
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